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No.10 T (2),3,4 WARBRRDIEIZ DV TRz, ZHE X3 +2X% +3X +4 € Q[X] D& 5 72 BkiK)
BEHADRERDDERDZLHTELN, JIORAETES, bbb, QURABRDLATE AR
ZIHA

N

X?2—aX+0b
DIFH a,b ZAETL () L AT, TOL 5% EEKZ] 2WEHERAORL LT
a++va?—4b
2
AEZ, TORBASEE LT—RO 2ROLEREES L\ 5 AATH 5,
T 11.1. Kk LD n-ZREHAR k(X X, ..., X, DK (ZHIXOHBOE TEY

2HDEMRDLTIR) % k(X Xo, ..., X,) LEE, Kk EOn-BHEERBREA L IES,
EFE 11.2. K b LD n-ZBAFEBEBUE OF RIKARBHLR 2 CEBBIEUER & 1T,

Bl 11.3. Kk k EOARESE a,b & & > T2LBABBERAK K = k(a,b) 25X %5, K LD
ZHA X? —aX+b 13 K EBIITH-> T, TDOWRDO—2% 2, B &, L=K(x) I
2 EBARBBEBROHITH S, LI K DA TILKRT, Gal(L/K) = Cy (2IRDKEEE).
Bl 11.4. (K k EOAREIG a,b,c & & > T 3EBAHEBUR K = k(a,b,c) 2EZX 5, K
FEDOLZENR X3 —aX?+bX +cld K EERITH T, ZTDW%ZE 21, 20,23 2B L, L =

K (21, 29, 13) 132 ZHRBEALURDHITH S, L 1Z K DHOTHKT, Gal(L/K) = S
(3 fE D 7&. D K FREE).

FOFE—EOWED HEESIEA] OBAICE TIETE 3,
fRE 11.5. K k1 O3 FER Lw,w? 2 LTEL LTS, LOFIDO K = k(a,b,c)
& L=K(x,20,73) BEZ KD,
r = 21 + wrs + wies, ry = T + wxe + w3
ek,
(1) M=K(}) & K & L OHEETH>T, ri,r3 € M, L= M(r).

(2) M ¥ K D2iROHFaTHRKT, Gal(M/K) = C,.
(3) L& M ®3ROHBTILKRT Gal(L/M) = Cs.

AR THERT, TDAATENKEFETH 2O 2 KEIEK TR, Eoa@Ek, EEki] 3RARR
D RAEDEEIER DD E U THEONDLZ I L Z2RRTWS, 4IRABRIZOVWTHEKDOZ 2 TE 3,
BEEBAPHETEZDVWTIZ, IROZLIZDOWTHEERLTEIZ S,

i 11.6. GED LKD) B p DK k G260z T 5, (BIZEK, k=F,) Z
DEE, k EORETL a 20D 5T K=k(a) 525, XP—ald K EBEITH -
T. TOR a i K ESBEERTIZARW,

B 11.1. F; EOZIHA X3 — 1 Z KN X,

B8 11.2. Lod@ 11.5 LFAMROHEGRZ 4 AR >VWTREME L, (DRt s K
ELIZH2080DHHIED—DEHWEZYE, )



